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Problem 4. Design +he Frt‘m& num ber J\Ei'ﬁﬁ‘l{"’r
of handout it 13 Loee page 6 of handovt # 3)
vsing:
(@ A ‘a&fcoder with vncomplemented eutputs grdone
T—-input OR gate _
A decoder with complemented outputs and one
7-input NAND g4ie.
@- A decoder with cumFIEMEQ-FE& outpu ts and
oneg §-input AND ggte.
A decodev with LJPLCGM?[&MER-I..Ed ovtputs and
ong q-input NOR gate.
g- A L6-+o—L multiplexer and nothing else.

An 8-1o-1 multiplexer and wothing else.

. LUH}:;LL oNng. af the designé between +these

in parts @ and (B is Lefter? Why ?
Problem 2: Uf:i”—; a decoder with vncomplemented
outputs qnd a 12 —ijnput OR ¢ tg impfemen%
the lﬂgit Fonction F= Cbir b+c)- C(?:L*l"c-l-cl)- Cq+c+d)_
Problem 32 U&i’rz,g ¢ decoder with complemen ey
CUTPVU TS gnnd a if—ihfu% Fli‘v'ng%E) f"’lf’)’EmEﬂ4
The |og ic .Eunc{-{ah of problem 2.

Prop| mY’ Using g decoder with vincom F(Eﬂqanf‘ﬁ:f
SutPUtS gnd g 6~i&PU‘{' oR 3&1@) (v plement
The lﬂglc function Eza.brc+ becod +ad.
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Problem 57 Using q decoder with CﬂmF{EMEH ted
ouw.L?u be avnd a io—infu-l ANDﬁgqfe) 1wf>|emem+‘
the |ogic .é)U?LCHOh Of frﬂ{alem 4 |
Problem 6 ! Using Karvnaugh maps, derive ..‘:l'mthfecL
Prﬂduclr—a?f&u 5 e¥pre jons Qor the ou‘iPU*S
@y b)c, d)i?) £ of the sevewr-segmien deco-
der “preSentedin handovt# 17 ;Clook on page
11 of handovt# 17).

Problem 7 Using fLour 3—40—8 decoders and
one 2-{o—4 decodevr, congiruct a S —-to—32
decoder. Each one a€ the 3 —4o0-& decoders a5
well a5 the 2-t0—4 Jecoder must have an

qactive high enable input named £, Your des:
mogt !oéa a two- léuef.)l dE.&fén LLEre,Y J*

Problem 87 Using Lovr 2—te—4 decodevs eqch
with one gctive “high enable ivzpu{~ ngmed ENVL
and fwo gctive o enqlle (nputs ngmed Ev2
::& fruzﬁ P]US ovLE ;PLUET‘{'E'E:} carzg‘[—ruc{” @ 4—o—1%k
Codey .
_Problem 9: Using two 4f—4o-¢ ‘-"*"’"%‘f -
C"c{f_\rf) each q;:i-(—é a enqbfe iPLPU mmad
ETL, g rovp select output named G5 g5 well &
Gn pngble au%fu-f* ngwmed £0 plvs few OR gq-ﬂ'e,s)
‘CUHSJFVUCJ“ G 32—--}:3-—5 ":ﬂ"far‘fﬁ' Elm:nu{f:\"')' C{mpé
th LLQ.WC]-DU'I-’-‘H 9 -@:r ET, G5, Ec?>,
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Problem 40 Usiwj Four §—to~1 muitiplexers an)
one 4-to-1 muldiplexer, &8615'*? g 32-to-l wmul-
f‘i{?!ﬁx&r« This is going 4o be @ +wo-level desérh
Similar {0 evallples” £, 2 o handout# 20
Problem (47 L).Sifag '{?aur A —to—L muo lt'pleyers,
e inverter &vnd one L(—fQFU.{_ Qgg%f-@
desien a |6~ fg—d4 ME‘“PI\E}AEFT EQC‘L a{f’%&e
fourl 4 —fo— | iy itiplexerS must bove one 4ciie
L?":gh Eh’afuf ;QFU'J' nawmed ENV1L and two getive fow
eng ble ivzpu?-ﬂ, regwed £0M2 gnd vz,
Problem 12: Us(ng a 4 X3 PLA with & prod oot -f'er“irf)
S epleutpt foe !ﬂm-go function st
X =Zn 5500y
(=T8950(243 957110 14,4313, 15)
2=AB
Note : PLA wegns PLA w ith (wpu 5
‘and 3 jﬁ?ﬂ-s. when fs’af? ¢ product if*”‘ﬁ.{,a [
Meqn- 1h8+ the PLA containg 6 AVD gofes.

Problem- L3¢ Using o 4x3 PLA Wit 6 prod yot

+Eiu4:i€) !EWfP{?WEM-wL'Be Lol aw"af '[QU*"'LCJLf ons ¢
¥ = w8y popac.p
| TTh8c0C2%497381915 121314 ()

o Emgn(s 9)12)
OV Pty problewy _sz Yov sbas(d Rrow why%

PLA
jﬁéns_ “"?’ff‘_"lS and Whet & praf yed teriys





